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+ ze(x(s,t),y(s, )k +e(h, k) h% + k2
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z=z(x,y) BLU z=a(s,t), y=y(s,t) EMIo]EERDT,

a(s+ht+k) =x(s,t) + 2s(s, )b + 24 (s, )k + e1(h, k) V12 + k2 (3)

y(s + hot + k) = y(s, 1) + ys (s, + v (s, )k + 2(h, k) VB2 + k2 (4)
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eBCE | dim (b k) = 0 AT 0T (— WHEHE 25), EITEN S,

REME 2.4
z2(x+h,y+ k)= z(x,y) + Ah+ Bk + e(h, k)\/ h? + k2
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FIE 2.13 2 DO v = z(u,v), y = y(u,v) & u=mwu(s,t), v=o(s,t) 1L

D(z,y) _ D(x,y) D(u,v)
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VAN VAL R
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% 2.15 y = f(z1,22,73) A (a1, a0,03) DED Y TEFKSNTOT, (a1, as,a3) THOETHE
15,

6(h17 h27 h3) =
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LIR DR D,
GBI BIL T 2 ZI L RO GRS KT 5,
Efﬂ 2.16 Yy = f(xl,xg,xg), xr, = ﬂil(t), T = xg(t), Tr3 = ﬂig(t) D& %
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THRL, Yaeryvrind,
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REBRE 211 Ko B [WEREEZ KO L.
(1) w= f(z,y,2) = 2%y324 (2) w = zyzsin(z? + y? + 22)
(3) er v (4) 2%y log(a? +y° + 2%)
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